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597 B4 s B4 i B® [ S 3| 1,611 *
598 By EH B2 BLd [ S 3 1,611 *
599 $E 4 st EHh B4 110 BLm [ S 3] 1,209 *
600 B4 E B il BBiLm | S 3] 1,209 *
601 B4 EH B2 BLd [ S 3] 1,208 *
602 By EH B i3 BLd [ S 3 1,209 *
603 584 st EHh $BHmid B [ S 3] 1,209 *
604 B4 E B84 19 BBiLm | S 3] 1,323 *
605 =2 HH# =24 BRLd [ H 3] 1,080 *
606 S2HM =85 BRIl | H 4 1,422 *
607 = aE =1 B® [ S 3] 1,323 *
608 E W F2 BT [ S 3] 1,323 *
609 EwEH LK B® [ S 3] 1,323 *
610 EaE M FE 5 BLm [ S 3 1,323 *
611 = HE =6 BL® [ S 3| 1,323 *
612 E ET B® [ S 3] 1,296 *
613 EHEH FE#10 BLd [ S 3] 1,296 *
614 F FE BLm [ S 3 1,296 *
615 &~ EMEHh By Rl BRIl | H 3] 1,556 *
616 &~ EMHh &~ K8 EL® [ H 3] 1,556 *
617 hxE R 19 BB S 4 1,323 *
618 HE 220 BB S 4 1,323 *
619 P E e R &) | H 4 2,102 *
620 b P fE2 &) | H 4 2,006 *
621 i B3 &) | H 4] 1,783 *
622 E HiZHEH =mizd BB S 5| 1,773 *
623 E HiEH# = mi%5 BB S 3 1,498 *
624 = HEH =H] LT [ H 5 3,400 *
625 = HEH = M2 LT [ H 5 3,352 *
626 = HEH = H3 Lt | H 5| 3,352 *
627 = HEH = ZLm | H 5| 2 708[ % *
628 HF A SRR LT | H 4 1,742 *
629 JULHE JULET LT [ H 3] 1,800 *
630 J\L At JULIA2 BLm | H 5] 3,352 *
631 JULEEH JULE3 L™ | H 5] 3,352 *
632 5[5 H 3 HEI LT [ H 5 4,353 *
633 HE HE2 LT [ H 5] 1,698 *
634 HEEH HES BT [ H 3] 1,187 *
635 ERIAMH gERIA1 BRLs | H 6] 2 735 *
636 BLUEROR HHER B [ S 1 1,578 b 1I
637 BLUEROR HHER2 BLT [ S 2 b I
638 BLUEROR g BLH [ S i 543 H202&k1& b I
639 BLUEADR B Bl [ S 1 333 b II
640 BLUEROR WEEHE BLd [ S 2 522 H28R & b I
641 HREEFRES HEEA At [ S 4] 1,496 *
642 2 R AETE S T BB S 4 1,078 *
643 oA SEES AHRATA BT [ H 4 1,106 *
644 AR SHEES A HRHETB BRIl | H 4 1,177 *
645 FEAASEES EFEFHAA LT | H 3] 1,537 *
646 FEAASFEES FEFmEB s [ H 3] 1,034 *
647 FEHASFEES FEFMAC BL® [ H 3] 1,025 *
648 o EEHAGEES EFFHED BRLT | H 3 1,537 *
649 EALGHES EALL LT [ H 4 1,379 *
650 ABABEE NS A B X1 B® [ S 4] 1,346 *
651 ABRBBENS ABK2 Bm [ S 4] 1,608 *
652 PN TIE S L | H 3 1,232 *




